










Some rather not-so-intuitive oscillations of potentials occur, as we move from vertex to vertex. 





TAmplitudes seem to decrease on increasing the total number of vertices, n.



Potentials not near the the endpoints are very close to 0.5 ξ , and are ξ and 0 at the endpoints.It’s surprising how fast the convergence to 0.5 ξ occurs with increase in n and the vertex number.

  Hence, to a very high accuracy, no current flows through any wire not connected to a battery terminal, even for moderately large n !!! Each vertex receives current, mainly from the battery, and loses it, mainly to the battery,almost as if it were a parallel connection of resistors!!!
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